JL_

Resta (horizontal) Nombre:
Resuelve cada problema. Respuestas
1
1) 5,335 - 249 =
2.
2 4,914 - 3 = 3
4,
3 3,212 - 33 =
5.
4 98 - 8 = o
7.
5 879 - 867 = g
9.
6) 73 - 52 =
10.
) 7,968 - 81 = 11.
12.
8 2,787 - 141 =
9 69 - 9 =
10) 98 - 47 =
11) 6,016 - 7 =
12) 924 - 203 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Resta (horizontal) Nombre: Clave De Respuestas
Resuelve cada problema. Respuestas
1 5,086
1) 5,335 - 249 5,086
2, 4911
2 4,914 - 3 = 4,911 3 3,179
4 0
3 3,212 - 33 = 3,179
5, 12
49 98 - 8 = 90 6. 21
7. 7,887
5 879 - 867 = 8. 2,646
9 60
6) 73 - 52 =
10. 51
7) 7,968 - 81 = 7,887 1. 6,009
12. 721
8 2,787 - 141 2,646
9 69 - 9 = 60
10) 98 - 47 =
1) 6,016 - 7 = 6,009

12) 924 - 203 =
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Resta (horizontal) Nombre:
Resuelve cada problema. Respuestas
7,887 12 3,179 60 4,911
90 5,086 21 2,646 51 1.

1) 5,335 - 249 =

2 4,914 - 3

3 3,212 - 33 =

4 98 - 8 =
5 879 - 867 =
6) 73 - 52 =

7) 7,968 - 81 =

8 2,787 - 141 =

9 69 - 9 =

10 98 - 47 =

10.
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